3.79

Length ¢ oo
8.79 Water at 10°C is pumped from a lake as shown in ' L B
Fig. P8.79,1f the flowrate is 0.011 m*/s, what is the maximum E:gg“:‘"
length inlet pipe, ¢, that can be used without cav1tat10n

(0 : 00?1=m3!s
occurring? & ----- Ty Else;%tl?nn 2
: 7 FIGURE P8.79

Ltz = b1 osz, (4 *Z&M; where = 101 kPa , 2,=650m
a)

V=0, lé V, 2= 653, and from TableB.2 f£,= p,=1.228 kPa

o.on %
A/sa V= 'S‘ = _‘?(0075 2 =2.862 5o that

Re = ,, = (/2 38 :fx)/f (sz . =1.53 x10°, With this Re and from Table 8.1 with

0.08mm _ . i 7
S = 0, oo//# we obtain f=0.0216 (see Fig. 8.20)

Hence, with 2K, = 0.8 for the entrance , Fq.0l) becomes

(101~1.228) x10° 2

m3 (2 96
-+ 4] +(0.021, .8
75055 650m = 653 m +(} ) a)% +0.8) 003

£
D

r ;
J=50.0m
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